MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

TWO DIGIT DECIMAL NUMBER 1;21: Seomes
121) 0.004 x 22 = 136)  —(0.001 X 5.8 =
22 0.006 x (—0.15) = 400.005 x 7 =
23 —10 x (—0.0032) = 8 —0.02 X 85 =
21y —009 % 7.5 = 139 —0.004 x (—0.0064) =
) —9 x (—0.63) = w0 0.1 x (—0.25) =
260 —0.03 x 0.043 = - 0.09 x (=0.12) =
27 10 X 56 = 12)(0.0004 x (—0.032) =
28 (0.0009 x 0.62 = 13 —0.001 x 0.09 =
29 —0.0005 x (—0.064) = w7 x (—0.0083) =
1300 )X 6.1 = 15 —(0.8 x 0.039 =
151 —0.0005 x 0.024 = w6 (0.001 x (—0.47) =
152 —0.3 x (—0.98) = 1 0.07 x 7.2 =
9 0.4 x (—0.0047) = w9 0% (=0.02) =
34 0.008 x (—0.0018) = ) —0.5 X 45 =
@) —2 x (—=0.0042) = 1500 —0.0003 x 7.8 =
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